33. Mrs. Deskdrawer has 655 students in her math class.
Mr. Recess has 90 more students than Mrs. Deskdrawer.

How many students do Mrs. Deskdrawer and Mr. Recess
have in all?

They have students in all.
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34. Sally Sales and Sammy Sales were at the
preschool selling sippy straws. Sally sold 1,595
straws. Sammy sold 617 fewer than Sally. How
many sippy straws did they sell altogether?

They sold sippy straws altogether.
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35. Walter Wizard bought a new magic wand
for $1,299 and a new wizard hat for $800.

If Walter had $4,000 before buying both
items, how much does he have left?

Walter has $ left.
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36. Bowser has 3,467 bones buried near his doghouse. Spot has 515 more

bones than Bowser. How many bones do they have altogether?

They have bones altogether.
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